nz- eNext = {x, v, z}

oufzl= {x, y, z}

3= tNext = {X, ¥, 2}/ SQrt[X*X+y*Y + Z % 2]
b4 y z
Out[3]= { , , }

\/x2+y2+z2 \/x2+yz+z2 \/x2+y2+z2

n4= tPrev = {a, b, c}

ouf4l= {a, b, c}

ns= d = {d1, d2, d3}
ousl= {dl, d2, d3}

nel= chi = Simplify[1l + Dot [tPrev, tNext]]

ax+by+cz+alx?+y?+2z?

x? +y? + 22

Out[6]=

n7= tTilde = (tPrev + tNext) / chi

F ) T be) e b

X +y +zZ x+y+z x+y+z

omm:{ ,
ax+by+cz+aqlx?+y?+z? ax+by+cz+alx?+y?+z? ax+by+cz+aqlx?+y?+z?

ingl= dTilde = d / chi

1A(x%+y2+22 2 A (%% +y?+ 22 34 /%% +y? + 22
OuI[S]:{
ax+by+cz+q(x?+y?+2z? ax+by+cz+»\/x +y?+ 2z ax+by+cz+»\lx +y2+ 2?2




2 | bending-2.nb

o= Simplify[D[Cross[tPrev, dTilde], {{x, y, z}}]1]

’

{{ (-cd2+bd3) (bxy+cxz-a (y2+2z?2)) (cd2-bd3) (-y (ax+cz)+b (x%+22))
Out[10}=
2

.
2
A2 +v2+ 22 |ax+by+cz+a/x?+y?+z? ) A2 +v?+ 22 |lax+by+cz+a/x?+y?+z?

(cd2-bd3) (c (x2+y2)—(ax+by) z) }
2 ’

A[x?+v2+ 2% |ax+by+cz+/x?+y?+z? )

{ (cdl-ad3) (bxy+cxz-a (y2+2z%)) (cdl-ad3) (v (ax+cz)-b (x*+z%))

I
2 2
A (X2 + v+ 22 ax+by+cz+«/x2+y2+zz) A %% +y2 + 22 ax+by+cz+«/x2+y2+z2>

(cdl-ad3) (¢ (x*+v?) - (ax+by) z) }
2 I

AP +v2+ 2% |lax+by+czra/x?+y?+z?

{ (bdl-ad2) (bxy+cxz-a (v2+z%))

AP +v2+2z% |lax+by+czra/x?+y?+z?

(bdl-ad2) (-y (ax+cz) +b (x?+2?))

2
AX2+y?2+ 22 lax+by+cz+qfx?+y?+z? )

(bdl-ad2) (¢ (x*+Vv?) - (ax+by) z) }}
2

A[X2+v2+ 2% |ax+by+cz+/x?+y?+z? )

7

’

2




